A wuliboi v Y N Yed 21 WHR ¥l I int, float, char, double, adli-l Guwlal
sl WL oyl ddel WS Vg WA Aol As o Brd wAdl 43 . A Bud G wBuw KR we
U s yarll o3 W B, ddl A D uin Badl ur wBul sl Qu dl W W2 uin el
geL uer{l ¥32 W, dl ¢d s Aal WAl sl 50 3, FHD 2RI wAs 2 WR UBUL HRdl
widl du. 2l WRRARAHL C o s v wsiddl 213 320 adu 20 B, vl U@L L
Aol 3 C euwnl Guasy el el WsiRel B3 idl Ad Gudlal sadl,

NER| wfai?au.m (Need of arrays)

sudl sA &, A ywell wan-dl dedls ard@s WRRAR w2 Wwud C s aval B :
o adlvl sl ReneBill o WAdw

yua el sl florarguill Bua waadl

SN A Aell Aud Yol wel

ldl 635 Rawel U A axadl WRA wAadl

e Reueffollru dparll wlddl areiust 5291 marks0, marksl, marks2, marks3, marks4 .... ¥
marks59, ¥i 60 [Rendfalldl 3@ W2 60 el Pel Yd olrladid oed WULL Bl ¥ W3 AY ¥ 3,
marks[60] @vuRd sl wsld, ¢ 2 AWl wad vl Raelbidl oL MRl w2 U
marks[0], marks[1], marks[2] ... 21 WWE Aad Guuldl A Wl sl ¥REH)W
marks[60] W4l A sl 15.140 ealen yorm 2uud,

First Second Third Last
element element element T Y element
marks[0] marks[1] marks[2] marks[3] - marks[39]

gl 151 : WRU W4 wavudl 3y

239, Aol Al A Yool violuel Yoo ~lH):
o A Vs ¥ JAUSRAU YAl ¥Y8 B,
e A Rud s Yuddl =28l s Ay 8. 213 Ava WyRreud A3 S,

o VA AT A G2 Arll Vs gL GUAIME A usy B, VA AWHAl wesel YR SRl
eulail viqsi(index number)? ‘UNRFL’ (subscript) d3 usL uarl WA .

o vl @2 adr A wa yels vaa yals weald o ddl A
o usR¥edl 4 yrudl w3 wy B.
BIA WA (Types of arrays)
A eumsi WA A el 6 usdul Reulrd s sy
@ s uRaely A3 (Single or One dimensional array)
@ cwguRely 3 (Multi dimensional array)
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s uRwielly Al s Gofl s vga As 2 A U B 2w opguBRHRIY WML N
¥ oay wdl AN vaal g 3 ay o Gell ¢ €y B, Gl uA 2wl ¢l A W<l
w3Ruld 2R Gulatsdl glal sl s2aimi WA B, WU Wl C GUNL gL AN Hddl N
YRaely ud [uRaela vl o uul 43y

sy 3wl 2 (Declaration of single dimensional array)

C euMmi 339 avd R4l B[ a2Hl 20U ¥ Wil 320 Aluaal Hiddl QSN d 2 B3]
Feadl 824l kAl B dAl U AL WA A s Y cwsuld AN A

datatype arraynamejsize];

® datatype: WI SUL USRAL 425 WAL d <l 3 B, ol 2w A wlRs Rl
(characters) ¥dal $%9dl QSA dl Al UsiR 'char' Q. A ¥ A, yals (integers)
Al yaadl QU dl AL WHR int' QU g5, datatype d3 C eldAl S L Hiey
2s &S ad,

® arrayname: 3l APR gRL A, 20l vag UH 8. 3 U3 d A uRL Mad-l wye
el 43 uig Al A WU HUd B 3, B3A A viAM Un 2ug RSN, A3 Ay
ol cul el WA g1l B g WAl BUA B AU Aol €l A,

® sizer size dR1% vl vuddl Bud gl o W3l deen w2l wudl usd d sl ay
B, w size ddlk gl WA AS we yals wag dd wams B,

Gewa a3, 60 (el oa-ll Rod wada v {A yooud R @l wdla:
int marks[60];

wdl A - @l ¥ cnuld sude marks Al W wa 60 yals Avaid Anga w2 o uay
8. wezs R, 2wyels dvwall 2 ay DA Budl (double) WAl 23 ddl 23w Gelgw A
aRd 539 B ¢

char string [20];

float percentages [20];

double numbers [20];
AsuRaelly 31 Budl 2uudl (Assigning values to single dimensional arrays)
a5 el 3 wilws Badl wyal W2 C euwnl & Ad S

@ Hwsdud yud 33 wRlis BHdl auudl

@ WH WA Ul A3 WIls Bud)l wudl.
fuddauq wud @R wilis Bud wuvdl (Compile time array initialization)

AN uRd Rl avid AS A Y-l ¥ o Badl 2l asia . ARY A3 42 Badl
wal el e a3 s 8

datatype arraynamefsize] = {valuel, value2, .... , valueN};

ndl, valuel, value2, ... , valueN 3 ¥l s ygl s 2030 42 W2 WL Baa yil
R 8. A Jedis Gelgw 2wl B Al WA ANIAU . wedl se Asdl s QA Budl wdl
gzl ¢l

int marks[5] = {60, 65, 70, 75, 80};
L GElgW marks UHA AL AL ARURA sQ, ¥ wA w28 wad]l wsd, o weadl BHd



marks[0] = 60, marks[1] = 65, marks[2] = 70, marks[3] = 75 A marks[4] = 80 aDsclldl. 2idl Jd 2
R saciell BRuyl A 2340 st sl Budidl wel el ¢, dl a3auadl s ugl s g24-
Gad 2mdri 2udd A wen-d g2l Bad g vl vad. Gelsw dil3,

int marks[5] = {60, 65, 70};

wa 2Rl w3 a2sldl WkRls Bud marks[0] = 60, marks[1] = 65 ¥\ marks[2] = 70 a4Q. >3
A uehll marks[3] L marks[4] 22s-ll WilHs Bud 0 wwd.

A BN Ul sl avid % WIls Bad vuudml 208 dl B se eulad wbrad B, A
2yl 3+ g2 Al euldlal dl swdar WA wolRu SRA({})L 2iex el Badlell vy aela
Al A Ad. GewRRl adly, QA4 QA

int marks[ ] = {60, 65, 70, 75, 80};

Yia 824 Hddl marks Ml A3 ARd 59 ¥ ooRu sludi suldl Budl g wlis
BGadl wincdi wadl.

dl ), Gergel 15.1 W 25 yRaely 230 Fuddad A4 WRRLS Bud suudedl siddl 2 edy
s00. wgld 152 Gewsa 15.1q S-RRRaL wd uReun 9y 2 8.

29O 12-1.c-SciTE

File Edit Search View Tools Options Language Buffers Help

| 12-1.c
/* Example 1: Program to illustrate compile time initialization of gce 12-1.c
one dimensional array.*/ >gcc 12-1.c
>EXit code: 0
#include<stdio.h> .Ja.out
int main() =>./a.out
{ 10
int number[5] = {10,20,30,40,50}; // Compile time initialization 20
inti; 30
for(i=0;i<5;i++4) /{ Loop to display array elements 40
{ 50
printf(* %d \n", number[i] ); >Exit code: 0
}
return O;
}

/* End of Program*/

wigld 152 : Gegam 1504 AsRfEa i uRaun
ARyl
main QY Wi+l yay i3 number <UD ¥R AYRA LU VAL © A SUddad axd

¥ dHd SR e oRul Sl wddl Baidl Q@ Wilds Bud 2uvani 20d 8. for ¢u number
Al B3 wEo-weEdl w2sd eafd B,

MUY g 3 wils Badl wuud

oY A WAL AHe sl auid Gualelsdl wdell Budl Ancadl 32 widl u, d 2udd
nHd g3l Bl WA Bad duvardl ugladl Guasl g3 agfla. 3Rul WYRA Baudldl 3dl
A Guaor sl A uRL 21 s suld B, w153, Gelgw 152+ AR wd 8, awd
W 154 d uBRsuy eald B,
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OO 12-2.c *SciTE
File Edit Search View Tools Options Language Buffers Help

12-2.0%

/* Example 2: Program to illustrate runtime array initialization and accessing values
from one dimensional array. Program will read marks of five students and display the
average marks.*/

tdio.!

#include<stdio.

int main()

{
int marks[5], i, total=0;
for(i=0;i<5;i++) // loop to read marks of five students
{

printf{*Enter marks[%d] :*, i};
scanf("%d", &markslil);

}
for(i=0;i<5;i++) /f loop to find total marks
{

total = total + markslil;
}
printf("\nThe average marks of students are %d. \n", total/5);
return 0;

}

/* End of Program*/

sugld 153 : Gawgam 1524 S-RREa

2 0 O kpp@ubuntu: ~
File Edit View Terminal Help

kpp@ubuntu:~$ gcc 12-2.c

Kpp@ubuntu:~$ ./a.out
marks[@] :5
marks[1l] :10
marks[2] :15
marks[3] :20
marks[4] :25

The average marks of students are 15.
kpp@ubuntu:~$ [

sugld 15.4 : Gagam 1524 wRmuwm
RG]

Wl wan for gy win Rendlequ oR aiud, ol® for gu marks UMl AL BGA-VG
w25 aifld ga o @l e printf A4 Rens(llA AN Y@ ealald,

£ ¥R 4} asgmm

aogrion B WAl diun B, F A A Ws w2s add Al wd B, C euul Iauel ws
SR % aseHion M2 string 320 W AMeAL wucl Al A E A 9l Q Buuen BRse AR



ddd A6 uel wbes RAA 3y seaudl g2 2l B, wloes ua W C o A ual Wt Yad
Ad B, v d dlal RsR A A o Aruld s wd B, wRs Add anadd sl
W WA @zu A Yo 8:

char stringname [size];
], size ¥ stringname el AGHL 4A- AU euld B, A Jeals W WO YA fa
SNl el wwld &

char student name [20];

char city [50];

char state [20];

dl ¥ lug w3 ® ¥ C et wlees RAAL 2id vuell 21842 (null character) d3% waviial
N v Radl 24 B, 2 vun Re WM wleds WRAA vid uvami Heegu o 8, wH,
56 uel wles R id \0' (null character) Rla 4sq >3 S, wwuel wlRs R
ol aoeldl Al Asld A W2 ¥3s2R VUL Wkl ga Avul GUA A QUL AASRNAADL ¥R
w 8.

UEHs AIA B o, WERE AN yBl sudd Rdl auid vadl LA UG g3 B &
WAL Budl 20l asiu B, 3isex A (A Yoo, el oEl JAd wils Bad sl usiy:

char student name[6] = "PURVA";

char student_name[6] = {'P', 'U’, 'R', 'V, 'A", "\0'};
student_name «lMell B3 46 6 H24lv Avial WS 512 A & 3, PURVA dcedti Wi »aR dlaefl
arl 5 il Bed null character (\0') 34dl W AR 425 24 ga Hll 6 uzs. wdl A <ug
ASW %, o} del aziledll wgl Y sAA v s I WAt Budl . culd wlbrs

WURAAL 2id null character "0' sulad, %3l 8. MA se edlel qdR yat (A s e W
aud 53 wdla

char state[ ] = {'G', "U", 'T, 'A", R', 'A", 'T', 0'};

il BRUML state UMl 33522 W U@ 4 2w uA A 8 Wl Badl »iud o8, NAxi
QAN GudlaL &0 wud 2006 Al e Fser WA WRA A wdA -

printf("The name of situdent is %s", student_name);
printf("The name of state is %s", state);
printf(""The first character of your name is %c", student_name[0]);

ﬂgu&mqllu AT (Multi dimensional array)

AsuRaely 23 RAA Wis sl ad 8. A 3, Jadls Gulell uglizd (Rl 3, Ailbus woll, An
Wde ol adR) W Astude WRA RuRaely du 8. Daunul 21 wu-ll ugla-d RAR sl aud
wiuel aguRaRly 313 sirtaaidl g2 WA B, UG ARuen Yo, sogulRauely WN s sl ay
Goll A 2Ll A du B, C olrudl ud RuBRauelly, BruRwely saa N-uRaely 313 oi-dl
il aguRauslly A3 el wg 3w BuRsuella R 8. [BuRsusllu Axi wudl ¢An 22 ws wA
Gloll ¢ 2 As A3 6 ARsR U B, 21 UsweL U Hot BulRauela R o yal sy,
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RuRwella 231 epvuld s2d)

s Yl vuud AsulRanela A a3l s, ¥ Al viex el Budl wadl 43, @dani Al gel
WRRAR € B % Bl vhuriA 2, ses wauadll 32 W, Ses 15.140 wla Byl 2190 Rl d
AaRl gaaR eiue el Yol A2 AR gL dul vidd arxgrll [old eald .

Monday Tuesday | Wednesday Thursday Friday
Salesmanl 100 150 200 250 200
Salesman2 200 250 300 350 300
Salesman3 150 200 250 300 250

sves 151 : el [Qadl

il s%2s el oel 15 Budl 4d 8, il AsuBHelu A3 cnulid sdl Adisell -, RuRaely
AN Gudal Rl A ay WA RAsed B C euwrd RuRsuely 3R cwsRd 3 sres 1514
il 29 s wsu, RuRawely 33 Ay, aryfd 9 wsy:

datatype arrayname [row size]fcolumn size];
row size ¥\ column size Yrd Rl A yels vua vyl o Gl A2l uA datatype ddd C
clunl A5 uRL WA 2 iR AS ad. wdl B AN A L C el aguRaely R W wd
$R R (row major) B B, oflm wl sdA dl, AIA AR sadl ud eulqami
sladl o Suidl wad Sid 2l gl(rows)dl Ava -issl 8 B,
fres 15141 eulde RO wadar 20ud 0 yoor Ruiwely A ewfd s 2D ¢la:

wdl, A Gl vl 3 D, ¥ A4 ADA . (Salesmanl = 0, Salesman2 = 1 A~ Salesman3
= 2) R Glol guell Ava 5B, F vsaARueAL Yel Yel aRrA Asdad Gudloii daud. (Monday
= 0, Tuesday = 1, Wednesday = 2, Thursday = 3 21 Friday = 4) 2uufl 2’19; Bl !r';i ]
3, Que Wsddl dva yals o ¢l sugla 155 Quedl Rad @Rrad-d «yd ewld 3.

Column index thatrefers to davs

Value at
200 ——> sales[0][4]

0 100 150 200 250

Row
index that

refersto | 1 200 250 300 350 300

salesman

2 150 200 250 300 250

2usld 155 : dwadl Qaddl sl
¢d, Salesmanl gll Monday+l A% sudi wde forargell duRdl [Rad s, suud A3
425 sales[0][0]0 GudldL s ugll. sales[0][0] “d wuuda Bud 100 8. A ¥ d, Monday-iL
A% Salesman2 A Salesman3 glAl SR wudd ARl [Add wsiudl YR uesdl W w2y
sales[1][0] -\ sales[2][0]) Gulol &30 wflA, 2ugl 15540 saule yorsl sales[0][4] A WR
waddl Bud 200 8 ¥ A Friday-l A% Salesman] gl a3 »Udd dige due ewld 8.



RuiRwela 233 wilhs Gud 2uud

slsuRauelly 13- o o, RuRHeNY M3 yRL Rl Susd sacdl avid wedl WL sHd eBiuq
Wiy Badl sl adla,

dwde sdl awd BuRwelly 137 wilhs Bud suudl

Aresell NAMA Sudd sl avid ses 15.1 #i euldd 334 Wil GHd wuad sl LA 3o
ESIREILTTIE

int sales[3][5]={
{100, 150, 200, 250, 200},
{200, 250, 300, 350, 300},
{150, 200, 250, 300, 250}

|7

oeiRell 901U Sl g e 92IRUL SR, ¥ Ml Al e+l 208 g eald B, A WU
8. QA 3ol WAL Baud swuadl ugl 20060 ugli 39 » wu sd 2 8.

int sales[3][5]={100, 150, 200, 250, 200, 200, 250, 300, 350, 300, 150, 200, 250, 300, 250}
WalHll WHE avid BuBwela »R33 wilus Gudl auud

WoHAl v sl auid Qs 15,140 suldd Avesal W34 WIS Budl 2wvas sl Ss-RRRA
15.140 20l s gt s31 asia.

int sales[3][5], row, column;
for( row = 0; row < 3; row++) {
for (column = 0; column < 5; column++){
printf("Enter sales item [%d][%d]:", row, column);
scanf{("%d", &sales[row][column]);

3B 151 : wna sl 320 Gla-dl W3um

Bl WK AL B0l s A Ui Glefl AN WA sales i EuRauelu 33 ewsyifd 53 8. for qu
gL 20d df, sales Uil W3 W2 RRY g4 e Boidl Aiad. sales B3« WGIA-1E2 12QA 8-
[RR3oL 15.2 1i 2ule W3 gl Wl uR euldl usiu,

for( row = 0; row < 3; row+H) {
for (column = 0; column < §5; column++){

printf{"[%d][%d] : = %d \n", row, column, sales[row][column]);

AR 152 : WA wlRdl ealaar w34 Miuwn
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RuRsely i34 Ga@

g9 BUUQ WAL wud e AsuRaely wA RuRsuely 23 euvufid sal A d-l Budl-l
Guadla eafadl Waun weA, DM Qe oRd waad w2 GuRaely A3 envufd
SRA 2 WAl YA d uRennala skREa 15330 sl 8.

/* Bxample 3 : Program to illustrate use of one ¥is. two dimensional array. The program
will maintain marks of two students in three quizzes using two dimensional arrays. The
total marks of each student will be displayed.*/

#include<stdio.h>
#define STD 2 /*Number of rows for student data*/
#define QUIZ 3 /*Number of columns for quiz data*/

int main(){
int marks[STD][QUIZ]; /* Marks array for 2 students ¥iq 3 quizzes */
int i, j, total _quiz[STD] = {0};
for( i=0; 1< STD; i++) /* Loop for student row */
{
for(j=0; j <QUIZ; j+t) /* Loop for quiz column */
{
printf("Enter marks of student %d in quiz %d: ", i+1, j+1);
scanf("%d", &marks[ i I[ j 1); /* Reading marks of quiz */
total quiz[ i] = total quiz[ i] + marks[ i][ j];
}
}

/* Logic to print student no., quiz marks i-\ total... */

for (i=0;i<QUILZ; it++) /* Loop for printing quiz number... */
{

printf(" \WQuiz %d" , i+1);
}

printf{" Total \n");
for(i=0; i <STD; it++) /* Loop for student row */
{
printf{"Student %d:", i+1);
for(j =0; j < QUIZ; j+t) /* Loop for quiz column */
{

}
printf("%d \n", total_quiz{ i);

printf{"%d \t*, marks[ i ][ j ]);

}

return 0;

}
/* End of Program*/




[

Output:

Enter marks of student 1 in quiz 1 : 20

Enter marks of student 1 in quiz 2 : 30

Enter marks of student 1 in quiz 3 : 40

Enter marks of student 2 in quiz 1 : 50

Enter marks of student 2 in quiz 2 : 40

Enter marks of student 2 in quiz 3 : 20

Quizl Quiz2 Quiz3 Total

Student 1 : 20 30 40 90

Student 2 : 50 40 20 110

T y

s3-laREa 153 : Gewre 15341 u-udl wA uReun

AHY

i, 2wl 20nen WKl o udlsiows u3d STD 21 QUIZHL Gudldl 53 8, WM gl d2el
Rreuelfoll-{l vyid Aol & A STD gt FBId i 8. A o T, LA gRL Aeuadi
viadR -l vl QUIZ gkt 46l 8, e, [@eneffl-il wsldl 9@l AUl marks ~in-d
RuBRela 2R awvniRa sl 8. 4 Ay Qe gl Anadd @ wa-l ga AR ARkAdL H2
total quiz =uH) suBuely 33 euvuRa ani el 8. total quizd Arf@d Rdl avd o
Al ol g2a WAL Bad dld e ainanil wudd 8, wuell o3Ruid g for gurl Rl
YAlafdd sal M2 § A j el & ARl esls (counter) AQ alvAIBid s vl B,

Reus{adll wallel 98 aiudl 318 for qu-ll e aull ollow for qu(ARs qu)l Gualol sUnl el
8. qu-ll »iex WD Ay Renell grl A Wl g oIl AR s3] 8. Ayl for gu-dl
Gualal YRRIHA 1A YR 4oy d Y sdL W2 Rl el 8. suld N e A Qe
A0 WShHL el WAl W2 ¥ AAH B, wid, WuHHL STD ¥ QUIZAL Bl ogefld wuugl
BUNRL A ay Gawlla erudll sl

3 -l agel

I W C ol As vandl 8, uig 2l A -ling g B 3, C ol A Al usiel)
A8 aa Adl. 3l Al Asvel ANed & Wil awrsnld s3a A3l AbuAl wsael sl
W3 v s A 2ulg B s,

int number[5];

¥ Quis win yals Budl wddl number <l A3 @nfd 529, 248 number[0], number[1]
were. Tumber[4]HL GuUlaL s{lA viaol-viaoL B3 v2hlvll Budldl Guadlal s3 gl C ouwy, ¥ [ il
A el suivdl gual W2 WBLMRA Al WA B, AL Hdes, WSl number [-1] ¥ number [6]
Bladl v SIS UL U Bisuedl Gualal £ adl. AL wesaiell Al A w2l A YRw
Sl £128 2R WMol 88 wa sulad Adl wig, e Wsun suma Buazl A8 widl Bad
YA Al Q3 14 ol (crash) 46 ol

saza-utayd : 10



ARig

Vil UsRHL 248 C ennnl AsuRaely w1 BulRHield 2371 Gualel Aeifd 2oLl ensRisdizi
dlvur, 2uudl 3 we g ASA 3 3R L UsR C oiwell A v Wy 2 usR €S ud
8. WA R KAl wilEe 4 AS wa yels 3 yals yelaf o dl %38 8. A3-)
s 4 (index) yruell 93 WA &, 3Ws2R I id v Ra (null character) \0' 4l
id &, VA sl asel-l A6 @ C el Al NRUMHL ey ARFE s34 Guald
sRall yaseR]l Wl 8.

ey

1. ounl AxyBRaely 3 Gualal el &lagl wRudL
2. wsuRauely wd GuRawely 23 @Al dilad e U
3. Huda add WIA 4249 W3R FHd wddl A D3 v sRdn A3 928 Wi

Gua

wudl wed g?

4, <0 Moy Sl el ), N oo weud dl A YA A df URRUH wRud)

@

®

5wl
®
(®)
©

@

#include <stdio.h>

int main( ) {
int num[3][3] = {{1, 2}, {3, 4}};
printf("%d \n", number[1][1]);

retum O;
}
#include<stdio.h>
void main()
{
char str[ ] = ‘INDIA"
printf("%c %c %c %c ¢, str[0], str[1], str[2], str[0], str[4]);
}
9L Y3 :
Bulsuely 234 2dl ¢ v du 8.
¥Yoes _ wlwad A3 9.
Val ween WA Sudl duiaiil 2adl wdqsd (Index)d als el
soariy wa 8.
wefde yals Qdl ASA e vedR S ad,
C @Ml 33522 A3l wezs WRAD vun Ba gl ¥id dlaasii 2ud 8,



6. A Q- i 8 ¥ vl d wsudl:
(@ il 428d WAl Badl wot WU vHe sdl aud ¥l anu B,
® C clrudi 33 wi@edl Bud 1l w3 wa 8.
(© ogulsuelly 34 WE @3u ANsuRsuely ¥R B,
(@ C ocuw string 321 adud undd 8 8.
(&) RuRrely 33 anula sadl aud was Su ga 2udl sl dvudl Fia 83 B,
(f) int temperature[6] = {35, 32, 42}; A R WIS Badl suyan-dl wed yela 8.
(® int num[ ] = {{1, 1}, {2, 2}}; ¥ Wils BFad 2uya-d wa ugl 8.
7. llAqw usleu wwden [Qsedlbiidfl dou [Rsen yie 530 sl wL:

(1) C ouudi o S8 3l ga vesdl vl sl WAL Avaidl Aof@e gl wRdl Auqai-)
WYt S 2ud dL g udl?

(8) 425 9 oudl 2adl.
(b) swdar oje saulad.
(©) W3 wyaRl w26l wd A WA Bud syl
(d) 3 s&¢ WA qul syl suadl.
2) A4l Woung uReun g 2uad?

int num[5] = {1, 2, 3, 4, 5};

int i, j;
i = num[1];
J = num[2];

printf("%d, %d, %d", i, j, num[0]);
@ 1,23 ® 2 3,1 © 12,0 @ 3,4,5
3 A0 Wung wReun g wad?
int num[S] = {1, 2, 3};
printf{"%d, %d", num{0], num[3]);

@ 1,2 ® L0 (¢ 1,3 @ 2,3
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wallBls au0

QAL sl W wial WAl C WsuH Qv

1. Guablsdl Wl 5 x 541 & fres aidl, 20 6 svedidl WAl s Ay res oiudl dd

yReud Wk v saldl,

2. 02 eulon yast WMl A Gudal s 20 Renlfol-u @ il :

Roll No. Marks
1 60
2 70
20 75

o oty U4 Al ay v vydd Reneff) A4 e eald,
® 50 sRal ay Y8 HAdA g4 Reweldd dva eald,
® 50 sl ol YR wAAdl o [Qene(ldel v ealdl

3. AsuRauely 3 10 yals v aiR), A3 a2 2w sxi saldl, Gegm a3, A

Guidigal S4y2 10, 20, 30, 40 & d wReun 40, 30, 20, 10 ¥4 aq AU

4. 23w N wesdiell Héd¥ (maximum), @9dd (minimum) R A3AA D

5. Guildgdl wdYl 3 x 3w sresedll yals dvul ail. Awsedl €35 wesdl aRdll a9l euld).
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